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Instructions :

1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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31 I/(Unit T)
Y W H AHER 40 H TH THAI, FeEE" UNE H, AR = 0.682, A
¥ 3@ AEEI & WeGsy Uik p & fog fog ogEM @ ¥ n 2 p & few 95%
scrafavard  sTaue w1 fAaior wifea 10

A sample of two variables of size 40, produces a correlation coefficient of
r = 0.682. What is the point estimate for the population correlation coefficient,
p ? Construct a 95% confidence interval for p.

Y41/ (Or)

Temsy e fefafeq gedey =+ 3f@ w@ ¥

() IHRHE T THRHD
(@) Yow 3 R-ifow
Explain what do the following correlations indicate :
(@) Positive Vs Negative
b) Linear Vs Non-Linear.
g3 II/(Unit II)
‘ecg & R oF ifa w@ € 2 uftom & smem @ faw sEet wn

e § 2 10

What do the Levels of significance indicate ? Why are they important for

interpretation of result ?

A4/ (Or)

TH SHfcH ToieR o iR <l W WY wH H FAE w W A kA 8n
I AU H Uk hARETE URUMM ®w A oqua ® wfaswereit &t

4-hae UfgAl, 3-%ad ¥, 9-THI UigAl SR usd|
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o adfass fdt &t w @ e 9 T

50-had Uigdl & WY, 41-%a@ W & WA FAR 85-THI & WY

‘FE-TERR TR H TN wH GG HifSe fe o, arafas aRomEl SR gqargeta
oo § " ¥ 2 10
A genetics engineer was attempting to cross a tiger and a cheetah. She predicted

a phenotypic outcome of the traits she was observing to be in the following

ratio :
4-stripes only, 3-spots only, 9-both stripes and spots.

When the cross was performed and she counted the individuals she found
50 with stripes only, 41 with spots only and 85 with both. conduct the chi-

square test, to testify if she got the predicted outcome ?
gh1g III/(Unit IID)
WY H A H IUERT HH O WY SRSl 1 Hed I § 2 10
What is the importance of summary statistics using frequencies in SPSS ?
31edr/(Or)
ST SRRV & WY U BE A9 H O WER SR HEM TR ®9 ¥ GHEEU|

Clearly explain the advantages and disadvantages of ‘Post Hoc Measurement’

with suitable examples.

313 IV/(Unit IV)
‘hrer favdwor’ @ emue w osifwua € 7 3w fafw @ weR dR Hmw
¥ ?
What do you mean by Factor Analysis ? What are the advantages and limitations
of this method ?

Y41/ (Or)

‘hideh TR’ W YN SR SUEfTr w1 fowR ¥ gHmmEu)

Explain in detail the concept and utility of ‘Cronbach’s Alpha’.
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5. frafafed ger & ‘wwifrs fOvR’ W w&Y # wEi wiNw o 10
(1) "«
(&)  Hieg
(§) =UEg|

Briefly discuss the following types of Multiple Regression :
(a) Simple
b) Hierarchical
(c) Stepwise
Y41/ (Or)
Ty faed ' P favaeo’ &1 ST oS % wEe SR gRem
M T ?
What are the advantages and assumptions of using Regression Analysis while

writing a research paper ?
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